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61- We feel that the environment is in danger .......................many companies care more
about their profits and not the environment.

1) since 2) whether 3) while 4) although
62- They made Laws .......ccceeueuene that very young children should not work at all.

1) said 2) saying 3) say 4) which saying
63- The rope wasn’t .......ccoceevenee to pull the car to the safe side of the street.

1) so strong 2) strong enough 3) such strong 4) too strong

64- Which Sentence is grammatically wrong?
1) Whether you like it or not, at some point you will be tested on grammar and vocabulary.
2) By voicing your difficulties, you can get help from your teacher and classmates.
3) The postcards sent to us on Friday have not been delivered yet.
4) | think the box is too heavy for my little brother to carry it.
65- In our English class, each student had to give a short .......... to the rest of the class.

1) religion 2)basis 3) science 4) speech

66- Thousands of people were ............ciise. in the rocks when the terrible earthquake happened in Bam.
1) excited 2) trapped 3) demanded 4) floated

67- When the little girl asked the tall man, he .......... forward to listen to her.
1) joined 2) fell 3) passed 4) bent

68- Some researchers do experiments in order to find the ways for the......... of a disease.
1) extinction 2) region 3) temperature 4) material

69- | told my students, “Read the title of the story and ............. what the story is about.”
1) estimate 2) provide 3) introduce 4) predict

70- In a cinema, the room from which pictures are shown on to the screen is called a.............. room.
1) activity 2) competition 3) projection 4) audience

71- If we manage to avoid a nuclear war, there are still other dangers that can make ............... us all.
1) department 2) direction 3) destruction 4) definition

72- It will take about three hours to repair it if everything goes ...............
1) brightly 2) entirely 3) fortunately 4) smoothly

73- Some of the existing social problems in our country are because of the war and its .............
1) directions 2)advantages 3) aftershocks 4) storms

74- The police have been looking into Peter’s possible ................ with a series of robberies.
1) management 2) involvement 3) embarrassment 4) encouragement



Cloze test:

To be a good translator, you have to try a lot. Translators should be rather ......... 75......... of, at least, two
language systems. They should feel both ......... 76....... as well. Being able to speak or write two or more
languages is very important. However, it does not ...... 77......... that the person becomes a good translator or
interpretor. This activity needs its own ...... 78....c..c.. skills to be followed regularly. Practice and experience are
two key ...... 79..ccuuunee which help the translators ...... 80.... well. Bilingual translators, the people who are able
to translate from and to two different languages are rare.

75- 1) practical 2) special 3) aware 4) real

76- 1)languages 2) people 3)translations 4)discussions

77- 1) communicate 2) distract 3) require 4) guarantee

78- 1) flexible 2) specific 3) unnatural 4) moderate

79- 1) pauses 2) gestures 3) postures 4) elements

80- 1)doing 2)do 3)done 4)does
Reading 1:

The human blood circulation system consists of the heart, the blood vessels and blood. Blood is a thick red
liquid. There are about 3 liters of blood in the average human body.

There are three types of blood vessels: arteries, veins and capillaries. Arteries are large tubes. They carry blood
to all parts of the body. This blood is bright red and full of oxygen. Capillaries are'small tubes. Veins are narrow
tubes. They have thin walls and take the blood to your heart. The heart is a cone —shaped organ. It is located in
the center of the chest. It is a thick muscle and has four chambers. The average heart weighs about 300 grams.
81- Which sentence is wrong?

1) Our body includes 3 liters of blood. 2) Blood is a solid material.

3) Blood is a red liquid. 4) Vessels are tubes that carry blood.
82- Our circulatory system has ..........parts.

1) many 2) two 3) four 4) three
83- The word “thick” in line 1 means ........... .

1) very heavy 2) loose and light 3).not flowing easily 4) moving very fast
84- Arteries keep the blood.................... .

1) which is full of food and oxygen. 2) which is used by body organs.

3) when the veins are having a rest. 4) that comes from legs and hands.
85- The text implies that veins carry.......... blood to our heart.

1) bright red 2) dark red 3) very heavy 4) very light

Reading 2:

According to the National Academy of Sciences, the Earth’s surface temperature has risen by about 1 degree
Fahrenheit in the past century, with increased warming during the past two decades. There is new and
stronger evidence that most of the warming over the last 50 years is because of human activities. Human
activities. have changed the chemical composition of the atmosphere by building up of greenhouse gases-
primarily carbon dioxide, methane, and nitrous oxide. The heat-trapping property of these gases is
uninevitable although doubts exist about exactly how earth’s climate responds to them.

86- The text says that ......cccceeevreenenee

1) the twentieth century has had no change in temperature.

2) The last two decades have been warmer than before.
3) in the present century the Earth is not getting warmer.
4) The Earth’s inner temperature has decreased in the past century.

87- Human activities .....c.coeerueee

1) might be very useful for the atmosphere.

2) have changed the shape of the atmosphere.

3) have been the cause of increase in greenhouse gases.

4) have kept the chemical composition of the atmosphere fixed.
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88- The word “primarily” in line 7 is closest in meaning to .........cecueueee.

1) mainly 2) hardly 3) terribly 4) lastly
89- Which one is NOT among the damaging gases mentioned in the text?

1) methane 2) carbon dioxide 3) carbon monoxide 4) nitrous oxide
90- The pronoun “them” in the last line refers to .............

1) carbon dioxide and methane 2) methane and nitrous oxide
3) greenhouse gases 4) doubts





